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1, optd A hin-walleR, dosed end ofinder of mean wadius T and thickness t dosigned
to ;q"o?t_ o SQQX;\,QQ belk 4 tHhickmess h and width ébu shown.. (@) (Al\a"l s the infermal
pressune @uem in the ca@.‘.\du in ovder to W?Pﬂt_ the fﬂ«:w bef® under tensile
forcs Q? ) I-f the matevial wiedk 1 macle of C?&AJN’ has the sheay modidia
€ and the shear et X strees TT y and the fadtov of safets 11 io alas given,
Hhen (b) how 1o measwrn the tengiom {wce Q l’a uuno a—nﬁztm shain ?arx: @
(e) (L)LM*- & the allwabl R can be APP,&'”Q in the b.o,u‘./accwdiua To the
Mmoximum sheav Sthsss -theo ov the W? cyilerion (?

2. ('OP{:)_‘:«;D SDM bYASS YOAS AB awt CD ane [)Yd%e)( '('B o bmss SpceVe EF IQL‘Mc
mayimam” she.w'na sbess cccurs in the veds and in He sleove are the same , then what
is the namericall methool can 7ou Propose T f"nd He ralio d‘ﬂh ?

h
3. (0PE) The skel yods AB and BC are made of a sted {or which the Tensife il
stvean 6‘: = 300 HP‘* and the %unﬁ’s modufus E ”QOOGR«. me{na- that o shain
<nerfy of 5 TJoules musk L.eacb-u’YeA ba. the auuw\b% a0 e axinld Lad P
applied defumine the Locky o sajda, will mf«i‘ T5 pefinanest deformation .
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4‘-(20‘*)-“\.10 -{ofcu Pl M\ﬁ( Pl aYe aPPf“ea( X Sl\owr\ fr\ (lfvec‘h‘m Pvfendu‘cwoav"(i “\-: »&7:’!‘4&'&&9
ax's "'5' a Wi X40 beam . Known thak R =5\<('Ps and B= ikl'rs (déteymine the Shvess

. ‘¢

Y Wix40
| Avea A =l[. 8
' Dfpﬂ\ d=1-94n
X w:d+k’t‘,= 8.005in

X
Fhickness = 0515in

Welb Thicknesstyy
= 0, 2qg l’nr

I, =310 in*

I3 - 4-4,‘ l"\qr

5.@0?1')51\@}* AB is made of mMA sTzef which (s azgumed s be efa.s'ﬂn-pav{«* plastic with
G = 806Rx and (C},-&,L =50Mfx. A t\'%ue Tis opplicd and ?mdxuﬂa. incveansd in
maa'nm\de « Defzvmine the nwrﬁiwk of Tand the Cowespudfnta. anaoe of twisk @) when ‘r&l
fivst occans , (b) when the deformdtion has become -fall-} plastic, (c) defevmine e vesidual

[

stvesses and the P-emanen't' OngAx f-&-'iw.‘:* a.Si?y e ‘[th‘u P Pw\aeeu(b) }\as been yemevedl.
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6. (lOPf)Foy the cvane hooK and Aruimz shown 5 délermine (o) the distance R -{-ym the cedtev
%mva‘tum C & the nedtval sufoce can be %PYM& Ba. ic ,
R
kb, ' “'

Lh* Chitbz)
ChYa=ba ¥ )X (b =b2)
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